GLOBAL OLYMPIC CENTER KATEQORIYA IV SiZO UGURLAR ARZU EDIRIK!

1) Find the value of t =?/Haitaure 3Hauenmne t = / t-nin giymatini hesablayn:

A)13 D)-3
2) Solve: / Pemunre: / Hall edin:

(2022 - 2023)12 + (2022 + 2023) - 3333 =?
A) 10 B) 11 Q)12 D) 713

3) Find GCD (Greatest Common Divisor) of 126,162 and 180?
Haraure HO/ (HanbGoapimin obmmit zeaurteas) 126,162 u 1807
126,162 va 180-nin an boyiik ortaq boliinenini (OBOB) tapin:

A)9 B) 12 C) 18 D) 24

4) Tim goes jogging for 1 hour & 30 minutes. He starts at 4:50 pm.

What time does he finish?

Tum 3annmaetcs Oerom u oH 6eraet 1 gac n 30 munyT. OH

HauyuHaeT B 16:50. Bo ckoabKO OH 3akaHYMBaeT?

Tim qagisla maggul olur vs o, 1 saat 30 daqigs orzinds qacir. O, saat 16:50-de qagmaga baslayur.
Saat negads o, qagisin bitiracekdir?

A) 6:20pm (18:20) B) 7:10am (7:10)

C) 9:20am (9:20) D) 10:10pm (22:10)

5) Anita got home at 3:30 pm. She was cycling for 1 hour & 40 minutes.

What time did she start?

Anurta BepHyaach gomoi B 15:30. Ona exaaa Ha Beaocuriede 1 gac 40 munayTt. Bo ckoabko ona
Hava/a KaTaTbCsl Ha BeAocureae??

Anita evo saat 15:30-da qayitmisdir. O, 1 saat 40 daqige arzinds velosiped siirmiisdiir. Saat
neg¢ada o, velosiped siirmayo baslamisdir?

A) 1:20pm (13:20) B) 11:55am (11:55)

C) 1:50pm (13:50) D) 1:45am (1:45)




6) Find the next number: / Haitaure caeayiomiee uncao: / Novbati adadi tapin:
01_ 31_ 3)_61_91_
A)-14 B)-12 C)-15 D) 13

7) What is the simplest form of this expression?
Kaxosa nipocreriiiast popma 9TOro BEIpakeHVIsI?

Asagidaki ifadenin sads formas: hansidir?

2 2
x-—16y” 4x—y 4x+y o
2 . 2 | 2 T3 -
X +y x“+4xy  x°—4xy
8 8 8
A) X B) Y ) W D)1

8) Find the largest possible value of the blank so that the number becomes divisible by 4.
Haitante MakcMaabHO BO3MOSKHOE 3HaueHIte Ipobeaa, 9TOObI Y1CA0 AeAMA0CH Ha 4.

Boslugun els giymatini tapin ki, hemin adad 4-s boliinstin.

4326 44

A)2 B) 6 C)8 D)9

9) Simplify : / Yapocrure: / Sadslasdirin:

a’b—3a> =3a+ab—2b+6 N ]
ab?® +2b* —-10b—5ab+6a+12 b=2

— 9

a—1 a a+1 ]




10) Find the value of : / Haiiaure 3Hauenne: / Hesablayn:
3x + 2y - 4z
xX+2y+3z=7
x+3y=35
3y+4z=7

A)4 B) 6 C)2 D)3

11) A bicyclist travels 60 miles at 15 mph. How long did this take?
Beaocumneauct mpoexaa 60 km co ckopocTpio 15 km/4. CKOABKO BpeMeHM BTO 3aHAA0?

Velosipedgci 15 km/saat stiratlo 60 km yol getmisdir. O, buna na qodar vaxt sorf etmisdir?

A) 4 hours (gaca) B) 6 hours (gaca)
C) 2 hours (gaca) D)3 hours (uaca)

12) A train travels 60 miles in 90 minutes. Calculate the train’s average speed.
IToesa mpoxoant 60 muab 3a 90 MuHYT. Berancanre cpeaHIO0 CKOPOCTh HOe3Ja.

Qatar 90 daqiqge arzinds 60 mil gedir. Qatarin orta siiretini hesablayin.
e, Lt © o aghe e T B
£ T VS o

A)40m/h  (m/9) B) 60m/h (m/q)
C)20m/h  (m/q) D)50m/h  (M/49)




13) Today is Friday 07.10.2022. After 5 days, I have a birthday. What day of week will be my
birthday in 2024?

Ceroans rsitHnna 07.10.2022. Yepes 5 anelt y MeH: AeHb poXAeHUs. B kakoil 4eHb Heaean
OyaeT Mol AeHb poKAeHns B 2024 roay?

Bu giin 07.10.2022-ci il, ciims gliniidiir. 5 giin sonra manim ad giiniimdiir. 2024-cii ilde manim
ad giiniim haftenin hans: giinii olacaqdir?

A) Friday (ITlatanma) (Ctimo) B) Saturday (Cy6060Ta) (Sonba)
C) Sunday (Bockpecenrne) (Bazar) D) Thursday (Uetsepr) (Clima axsami)

14) How many dogs are there in the 6% pattern?
CkoabKO coDaK B 6-M puUCyHKe?

6-c1 sokilde hego it vardir?

2 % K% KRR
2 %% QK2

A) 10 B) 11 Q) 12 D) 23

15) Find sum of the area of figure A and figure B.
Haiaure cymmy naomagent gurypst A u gurypsr B
A vo B fiqurlarmin sahaslsrinin comini hesablaymn:

A. B.
2cm 8cm

12cm

fcm

5cm

A) 105cm? B) 110cm? C)75 cm? D)45 cm?




16) Find the value of / Haiiaure 3uauenue / ifadenin giymetini tapin:
2a-b + 4b =?

a+b b+2c
c+3 6a—1

1,

a+b+c=19 =
A)5 B) 11 C) 22 D) 33

17) Solve: / Peuturte;: / Hall edin:
2023 - 1234 + 2022 - 2345 + 2024 =7

A) 2490 B) 2940 C) 1490 D) 2023

18) Find the value of missing rectangle.
Haiiaure 3HaYeHME MyCTOTO IPAMOYTOABHIKA.
Bos diizbucaqlinin giymsatini tapin.

A)4 B) 26 C) 36 D) 43
19) Solve: / Pemure: / Hoall edin:
00O -
[ AEARSS
=-C-?2
O+ @ -

A) 14 B) 11 Q)12 D) 13

18




20) Find missing number.
Haitaure neaocramoiee uncao.
Catismayan adadi tapin.

4 6
22

A)10 B) 15 C) 20 D) 25

21) Find simplest form. / Haitaute nipocreiimyio ¢popmy. / Ifadenin sads formasini tapin:

0,001+0,011 N 0,03(44,4-23,1)

0,0111 0,340,033
A)0 B)1 0)2 D)3
22) FindthesumofA + B + C + D =?

Haitaure cymmy A + B + C + D =7
A+ B + C + D =? comini hesablayn:

ABC § BD
+ BsD _ACB
gD o BBo

A)15 B) 17 C) 18 D) 20

1’)




23) a, b, ¢, d are positive integers, find x =?
Haiaure 3Hauenue x, ecan a, b, ¢, d moao>xureapHbIe 1IeAble Y1CAa.

Ogar a, b, ¢, d miisbat tam adalardiss, x-in giymatini tapin.

A) 90 B) 96 C) 102 D) 113

24) Solve: / Pemnre: / Hoall edin:

et
wx L+ w=
OxW@+w=
@ + @ x=

A) 370 B) 191 C) 209

25) Find the value of x + y =?/Hariaure 3Hauenne x + y =?

/ x + y =? ifadesinin qiymatini tapin.

66 48 37 33 y

61 41 28 22 X

A) 40 B) 51 C) 59 D) 63

4 20 35

12 10
3 6 2

6 54 9

48 63
8 56 7

a 72 b

45 X

c 60 d

D) 199







